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School District A: 100 ADMw transfers from non-charter to charter A Charter School Moves from School District B to School District C
(Assume ADM ≈ ADMw)
School District B has 500 ADM charter, 500 ADM non-charter in year 1

School Year 1 
ADMw

School Year 2 
ADMw

School Year 1 
ADMw

School Year 2 
ADMw

Non-Charter School 500 400 School District B 500+500 500
Charter School 500 600 School District C 0 500
Total 1000 1000 Total B and C 1000 1000

1. Current Law Extended ADMw calculation 1. Current Law Extended ADMw calculation

School Year 1
School Year 2 

Extended ADMw
School Year 1 

ADMw

School Year 2 
Extended 

ADMw
Non-Charter School 500 500 School District B 500+500 500+500
Charter School 500 600 School District C 0 500
Total 1100 Total B and C 1000 1500

2. HB 2150 Extended ADMw calculation 2. HB 2150 Extended ADMw calculation

School Year 1
School Year 2 

Extended ADMw
School Year 1 

ADMw

School Year 2 
Extended 

ADMw
School District B 1000 500*
School District C 0 500

Total for district 1000 1000 Total B and C 1000 1000

Charter and Non-
charter together 1000 1000

*School District B will receive 500*5% = 25 ADM 
worth of SSF apportionment in the first year after 

the charter school closure
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